3D Odyssey

Shaping Spaces in Depth



Viva Composite Panel

About VIVA 02
Why Choose Us 03-04
3D Panel Guide 05-30

IndeXx

01



| 4

About
Viva

Viva Composite Panel

Discover architectural innovation with Viva! Our
commitment to excellence drives us to deliver
cutting-edge solutions. VIVA is a trusted and renowned
brand in the Indian market for its best-in-class ACP
product line and it's class apart service. With over 20 years
of experience, Viva has a stronghold in the International &
Indian market. Viva Composite Panel Pvt. Ltd. is one of
India's leading Aluminium Composite Panels (ACP)
manufacturers. Viva's products are known for their quality
and durability, making us a go-to choice for many
customers.

At VIVA, we boast state-of-the-art Korean machines, an
integrated infrastructure, & a talented team of
professionals ensuring seamless operations. Our plant is
equipped with top-notch safety measures and solar power,
ensuring uninterrupted production. With in-house testing
labs, we guarantee the highest quality and precise
specifications for your projects.

Join us on this journey
of architectural transformation.

02



Viva Composite Panel

2+ Decades

of Expertise in ACP

]:{;} 500+

Customer Service Touchpoints

FR Grade
Aluminium Corrugated Composite Panel

Why
Choose Us?

12 Million m2

production capacity (annual)

12 State-of-the-Art

Production Lines

300+
Shades with Infinite
Customization

03



@

Viva Composite Panel

‘é'\}:{?ﬁ Only Brand in India

to have 3 Colour Coating Lines

Overl16 +

Company Warehouse

30 Years
of Warranty

60

In-house Quality Tests

Sustainable & Green

@ Products
2

Infinite

{ ‘> Customization

04



05

VA 3D-1

Design Specification

Series

Color Code

Color Name

Size of Panel

Solid Metalic
303
dark Grey

550 X 318

Viva Composite Panel

cﬁ?
=
N =
] Ml
)
- =
La \ // \ //7/”\\\\K\ la
129l 318 [ 318 [ 31R | 318 | 318 [ 318 | 318 | #A18 [ 318
B 3021
VA 3D-1

AL

7\
1590 318 | 318 | 318

& JREUI 308 [ 308 | 318 | 38
Section A-A’
I :: |'\;:|—.-.h
E ol |
el o
A {HS O—
/ o ;«:x__. ]
]lr 5 @ _ Callout
Callout mar
|
= N
=
Section A-A’

SL Designation

Aluminium Framing 50X25mm
. Screw 25X6mm

. “L" Angle 25X40mm

. Fastner with Anchore Bolt

1.
2
3
4. Wall
5
6. Viva ACP
7

. POP Revit




VA 3D-2

Design Specification

Natural Stone Series

Series
Color Code
Color Name

Size of Panel

VA 9004

Versace brown

304x380 MM

100

Viva Composite Panel

1248.74

—

307.69 304,69 304.69 304,69

3A

Y 3A0

U380 g0 ™ ase ™ ape M ape Y aso

1140

l//./ﬁ///////////////L/l//////////////./,4/////%

=//////ﬁ{//////ﬁ//////////

380 380 3a0

360 aan

300

360

280

LAY

2 LV Wy
AR

1160

R R
".".-.-.-.-:I".".-.-.-.-.‘-‘-‘-‘-\-.‘-'-'-'-

AT

LR ARRY

Section B-B’

Section A-A’

Calloul

SL

© ©® N o g A~ w

VA 3D-2

Designation

Aluminium Profile-VAACP/P/511(Omega Profile)
Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

POP Rivet-25x5mm

10. HSS- Star Screw 25x6mm

06




VA 3D-3

Design Specification

Series

Color Code

Color Name

Size of Panel

Natural Stone

VA 9005

FERRARI RED

304x380 MM

L T
|

107081

LIF]]

107031 167091
Section A-A’
8 s s 0 I
=N = =—(%)
o~ f b3
O . o =
_ VlEET——8)
fo—— = =0}
X = 7)
= = )
E E ' Callant
Callout o8 =4
c:..
w4
A
=
Section B-B’

SL

1.

© ® N @ o »

v
. ’_'__._-' -‘-""‘--\.__ "’_____. ?
(i X+ - Lol R 1970, 81 —1= i e ] |
E NN
VA 3D-3

Designation

Aluminium Profile-VAACP/P/511(Omega Profile)
Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

POP Rivet-25x5mm

10. HSS- Star Screw 25x6mm




Viva Composite Panel

VA 3D-4

Design Specification 3 =
5 /”"?I AR ““‘\/f” N
. = - e, e, o - » e,
Series SOLID METALLIC 3 [/ P \/ p
= ‘/‘»{f /\ P 3
Color Code VA 105 =y \H 'f’/h‘“ ;7% ’_7%_‘ §
I g x,/}] = <\ e el -
Color Name Jade Green - /\ /’\ . /\7[ 10 /\
Sl A ..a-""'f.. 'é\“-&""-‘. ﬁﬁ?%fr; -\“‘-\""‘-\-.. - %‘H‘ y J.I\L
Size of Panel 304x380 MM - NS =
ETEN ETERI ETEXE] EYEE] ETERE EYERT] ETEXEY ETENE)
. 287426
VA 3D-4

VI ////ﬁ////ﬂ{////ﬁ,f///( (////ﬁ/f//!if///]

SL Designation

Py | | | | ey o —
313,03 | 313,03 313,03 30503 313,03 313.03) 31303 | 31303
1. Aluminium Profile-VAACP/P/511(Omega Profile)
Section A-A’ ) o
2. Tray Made From 4mm Viva Aluminium
Composite Panel
TR ® Aluminium Profile-VAACP/P/8611 ( Female Profile)
p 'R _-:53_, {f) O .. . i
Ei;‘«—lv—t % @ 3 ) Aluminium Profile-VAACP/P/612 (Male Profile)
@ - Hilti-Frame Anchore HDH-HR2 10X100MM
Calout Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

© ® N o g »

POP Rivet-25x5mm

Section B-B 10. HSS- Star Screw 25x6mm

08




Viva Composite Panel

VA 3D-6

"
Design Specification ;

Series REGULAR

Color Code VA 303 ;f
Color Name Dark Grey E

Size of Panel 304x380 MM .

VL T

1. Aluminium Profile-VAACP/P/511(Omega Profile)

Section A-A’ _ o
2. Tray Made From 4mm Viva Aluminium

== : ) Composite Panel

I i ~ 3. Aluminium Profile-VAACP/P/611 ( Female Profile)
3 il u 4. Aluminium Profile-VAACP/P/612 (Male Profile)
IEI U © 5. Hilti-Frame Anchore HDH-HR2 10X100MM
E f Callout 6. Double "T" Bracket-VAACP/P/510A
callout E 7. Anchore Bolt
tm= 8. Aluminium "L" Clit -20x25x38mm
= 9. POP Rivet-25x5mm
Section B-B’

10. HSS- Star Screw 25x6mm
09




Viva Composite Panel

T L T — T (— —— — e il e . e

VAV IV IV LV LV WV |
VIiViVIViViV.iV]

VA 3D-7

5
Design Specification E
778 V17805728 /Z8N 174 78N 78
Series SOLID METALLIC ) }\"é AN A AP AP A
Color Code VA5 = QQUQ 5%.
A ) &
Color Name Gun Metallic N7z " 1[‘" NI /72 \\/ - __
Size of Panel 304x380 MM T NN /) NN NN 4‘ | NN NN NN BTN
TN l_mu_.l_m;_.l_mg_l_a.un_.l_iun_l_um_
o ZHEN
VA 3D-7

LT T T T T

SL Designation

400 400 4010 400 400 400 400
Section A-A’

1. Aluminium Profile-VAACP/P/511(Omega Profile)
2. Tray Made From 4mm Viva Aluminium

Composite Panel

Aluminium Profile-VAACP/P/611 ( Female Profile)

Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

'. -
Callout callont Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

© ® N o o »

POP Rivet-25x5mm

I

W

Section B- 10. HSS- Star Screw 25x6mm

10




VA 3D-8

Design Specification

Series
Color Code
Color Name

Size of Panel

Tarnish Metallum
VA 10002
Elegant Copper

304x380 MM

Viva Composite Panel

AL

- 314]

- \\ / \\\\\r/ A

W{ﬁ{///////ﬁ/.////////ﬁ///////f

Section B-B’

,///////ﬁ////////ﬁ////////ﬁ/ﬂ

457 457 457 457 457 457
Section A-A’
o—l—0
xf | ,.. 2 Ma_,
o——NF—=
Callout

e, {
N I P N L&
i 7 v 7 T 3
— 467 457 457 457
=
Tr9n
VA 3D-8

SL Designation

1. Aluminium Profile-VAACP/P/511(Omega Profile)
2. Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/8611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

© ® N o o »

POP Rivet-25x5mm
10. HSS- Star Screw 25x6mm
n




Design Specification

Series

VA 3D-9

Color Code

Color Name

Size of Panel

Viva Composite Panel

NV NV.NV
NV NV YV

NN

Tarnish Metallum

VA 10011 X

Rusted Cor-Ten

304x380 MM

ENEARN

4
N

3 [l 7| 3
. |
L5 %\{;\/’\ﬁ@ | ‘<:~-H_/4 \ A,

272

WJI:’ LT LT T _{M

(

C‘a]llout.

Section B-

I

on]

SR

i

— -~ ‘_-— s il i T L#:_,_——
457 457 457 457 457 457
Section A-A’
o—= |IFE

i % [ = o
{ kY —
] = i
™ (
" - L = === |} e
— 'y
) Y 1= .
- F

Calloul

SL

© ® N o g »

10.

VA 3D-9

Designation

Aluminium Profile-VAACP/P/511(Omega Profile)
Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/8611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

POP Rivet-25x5mm

HSS- Star Screw 25x6mm

12




Viva Composite Panel

VA 3D-10

Design Specification

Series

Color Code

Color Name

Size of Panel

Sparkle and Glossy Colours

VA 360
Sparkle Gold

304x380 MM

AhT

B
E \‘\[i ™ ™ \\ //r \‘\ /
™ H\'\ / L \\ /
VAR ‘\ /‘& \\ : e g
/ / / “ ‘\,\ /_/' ~, \\ /
. \\ L™ / \\ L/ N ‘ .
I 1zal | AN e PaN e DaN aN R
L—4av ., L 44y L 45%¥ 1 4dT ¥ AN 457
~B .
VA 3D-10

Wfﬁ mﬁ.ﬁmm,{ﬁwm / d’;’fa’;’h’fﬁ’ﬁffz‘f;’;‘ﬂfﬂﬁfﬂ W,

B - 0 E| - 5B ..-o-"i"-u.. -
457 | 157 457 | 157 | 457 | 457 437 I
Section A-A’
- &—= e O
.-i'_'_.l"l'“I H I:? :"\"I '.% {E\E) Iji:}
owt 8 3
Callout 2 = Calloul
= ]
e
H]
Section B-B’

SL

Designation

1. Aluminium Profile-VAACP/P/511(Omega Profile)
2. Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

© ® N o o »

POP Rivet-25x5mm

10. HSS- Star Screw 25x6mm




VA 3D-T1

Viva Composite Panel

v "

/ \

L5600

/KN L

A5

457 A5T AST i5% ‘-‘SF"- 5T

Design Specification
| ™~
)
Series Sparkle and Glossy Colours
ColorCode VA 364 E
ColorNaome - Glossy Ivory N
. 1A/
Size of Panel - 304x380 MM P
- H H
’ ; : ; : . t: !
| sz a5z | a7 157 ) 457 e
Section A-A’

Section B-

A

W

I

Callaut

VA 3D-11

Designation

© ® N o o »

Aluminium Profile-VAACP/P/511(Omega Profile)
Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

POP Rivet-25x5mm

10. HSS- Star Screw 25x6mm

14




Viva Composite Panel

.
0
o™
<
>

Anchore Bolt

= B
Design Specification — =TT —
) \ ‘-‘-" / ‘-‘-‘ rrp'-r \
=
Series Solid Metalic T L / . | P
fﬁ_,.r"' .,r"'r,-r - T E
Color Code VA 107 e - /‘x\\ R _ 7]
e ] -
Color Name Copper = \Z \/ \
lal [~ e o ) o la
Size of Panel 304x380 MM i -t A VS \\“m" [P
457 =1 457 ARBT ABT 457 AGT
2792
VA 3D-12
SL Designation
e e e e e B "'--L_-——-'_'_‘—-——-_J--r-'"|
457 457 457 457
1. Aluminium Profile-VAACP/P/511(Omega Profile)
Section A-A’ . -
2. Tray Made From 4mm Viva Aluminium
Composite Panel
o—<TI 0 . 3. Aluminium Profile-VAACP/P/611 ( Female Profile)
o e AR | 9_'.:' :‘_; {F
= E+ ’ % o) E’ 4. Aluminium Profile-VAACP/P/612 (Male Profile)
1 5 =— {4}
-=_< =2 5. Hilti-Frame Anchore HDH-HR2 10X100MM
EF 3 1
/ﬂv Callout 6. Double 'T" Bracket-VAACP/P/S10A
=]
= 7.
8.

Section A-A’

Aluminium "L" Clit -20x25x38mm
9. POP Rivet-25x5mm

10. HSS- Star Screw 25x6mm




Viva Composite Panel

VA 3D-14

Design Specification 3
Series Solid Metalic i
e
Color Code VA 107
3[']5_
Color Name Copper A
Size of Panel 304x380 MM 610 A10 a1a ain ain
3101.24
VA 3D-14

LT T T T . Sl ErEn

610 610 610 610 610
1. Aluminium Framing 50x25mm
Section A-A’
2. Screw 25x6mm
p— 3. "L" Angle 25x40mm
H B - {T_.
== 0] 0 4. wall
/ :-.? 'El‘ :‘l" )
N ‘“E_: G E {"’.I_J 5. Fastner with Anchore Bolt
RS \ 4
B fj—r”f i ";}: 6. Viva ACP
e = I\th: _r_ﬁ__: Collout .
K y :1_‘ 7. POP Revit
Callouwut 'Ix_‘_ ::._:“_-_
4153
‘1-':;'
Section B-B’

16



Viva Composite Panel

VA 3D-16

=
=
Design Specification

=

=
Series Solid Metalic

=
Color Code 107 E

L&
Color Name Dark Grey =
Size of Panel 550x318 MM

248487

VLT T T T _ff

L'x.. || e o 3 '-a—}a..--'l "'."-—“;n..-‘"" e | e .
J46.41 || 346,41 | 346,41 | Jd6.41 | 346,41 | 346,41 | 346,41
Section A-A’

f| ) ~ T T r
L e e Y :
«"'f___[x @'_ll"_.zll \,%:H —®
I - - \\x {\ F &
8§ Callout
Callout \ Aoy
)
\
Section B-B’

SL

1.

© ©® N o g A~ w

VA 3D-16

Designation

Aluminium Profile-VAACP/P/511(Omega Profile)
Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/8611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

POP Rivet-25x5mm

10. HSS- Star Screw 25x6mm




Viva Composite Panel

VA 3D-19

Design Specification 3 =
=1~ I~ —
", . -~ ‘-"\ - . -
. \M“x j l\l'.l #;x ™ j/'f H\J e

Series SOLID METALLIC "'E'-_—?:,.I --_'—_E"""E_—-_i-/., }.F_:_._—_-'E""'E_'—_._._;,- e
A1 o \ . b=
Color Code VA 115 e \ /> . 7 ;\ S e /\\“x g

L~ / ~ ]~ \'}\/ﬁ “

Color Name Gun Metallic . e s AT / P
%J \xl\f}i/” &\i’l )&/ 'x};‘ e "

Size of Panel 550x318 He== T BT i G T IS BT

l-B b | |
VA 3D-19

)
S S 1

SL Designation

£10 610 R0 610 fill) G140

1. Aluminium Profile-VAACP/P/511(Omega Profile)

Section A-A’ ) o
2. Tray Made From 4mm Viva Aluminium

Composite Panel

Q/J | . 3. Aluminium Profile-VAACP/P/611 ( Female Profile)
] e
: e . . .
___(’ ,"r i OB 4. Aluminium Profile-VAACP/P/612 (Male Profile)
/”f —* : I';/ {8
A R O 5. Hilti-Frame Anchore HDH-HR2 10X100MM
Callout 3 3 Callout 6. Double "T" Bracket-VAACP/P/510A
——e
,ll 7. Anchore Bolt
£Ld
=
T dE 8. Aluminium "L" Clit -20x25x38mm
S—
9. POP Rivet-25xbmm
Section B-B’

10. HSS- Star Screw 25x6mm
18




Viva Composite Panel

VA 3D-21

= Rl
Design Specification
Series Tarnish Metallum
Color Code VA 10012
Color Name Verdigris
Size of Panel 304x380 MM

VA 3D-21

VAL A T T T T A
" O " i
ot el I e I e R

Section A-A’

Designation

1. Aluminium Profile-VAACP/P/511(Omega Profile)
2. Tray Made From 4mm Viva Aluminium

Composite Panel

Aluminium Profile-VAACP/P/8611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
f; Hilti-Frame Anchore HDH-HR2 10X100MM
callout ] Callout Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

© ©® N o g A~ w

POP Rivet-25x5mm

Section B-B 10. HSS- Star Screw 25x6mm

20




Viva Composite Panel

VA 3D-24

Design Specification
Series Tarnish Metallum
3
Color Code VA 10001 7
Color Name Glazed Copper
la"
Size of Panel 304x380 MM
VA 3D-24
LT T . / T i{d . .
Designation
L*—.—rﬂ-—h-f. -"-u—""\—\.-fz-‘-,—o-“-—u-f. 'u,_--a_\.f*".,_r--—h-f. “ﬂ—ﬂh—\fd“‘xu—#h—h-'
| a5y | | ase | a5z | 4 5
1. Aluminium Profile-VAACP/P/511(Omega Profile)
Section A-A’

2. Tray Made From 4mm Viva Aluminium

Composite Panel

Aluminium Profile-VAACP/P/8611 ( Female Profile)

Aluminium Profile-VAACP/P/612 (Male Profile)

Hilti-Frame Anchore HDH-HR2 10X100MM

Cu]}uut Calloul

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

© ® N o o »

POP Rivet-25x5mm

Section B-B 10. HSS- Star Screw 25x6mm

22




Viva Composite Panel

VA 3D-25

A

Design Specification

400

Color Code

40l

—
/
s
-—_
1460

Color Name Traffic Yellow

4011

Size of Panel 304x380 MM

A540

VI

/ iéf,{u‘ﬁdﬁﬂj{ / ”-I{” /]

{ &Uﬂ%ﬁ/ﬂ&ﬂﬁﬁ?ﬁ [,

j

il el ‘_Tﬁ?_lﬁn_l_m_l

Eulllluul.

23

Section A-A’

(=)

@ @

1270~
150
A s AR A \

AT

WY
1A '.I'l.l.'.'. i\

45101
W
A

Section B-B’

SL

1.

© ® N @ g »

VA 3D-25

Designation

Aluminium Profile-VAACP/P/511(Omega Profile)
Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/8611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

POP Rivet-25x5mm

10. HSS- Star Screw 25x6mm




VA 3D-26

Design Specification

Series

Color Code

Color Name

Size of Panel

REGULAR

VA 331

Pearl Copper

304x380 MM

Viva Composite Panel

YYYYNIYY

g @
)/
g
3
Z S
g
{a = LN la
- 3 i
| asd B asn 60 50 S5 AGD 350 a5
20RTH

LT

VAL T

10

lﬁaulgN

600

&

Section B-B’

[
4
N

B ey | e — e ———— -»-,._,‘_'F,,.-' —
L350 850 )| 350 350 350 aa0 1L 350 aa0
Section A-A’
( | ff"._; :\
: o

Callout

VA 3D-26

SL Designation

1. Aluminium Profile-VAACP/P/511(Omega Profile)
2. Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/8611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

© ® N o g »

POP Rivet-25x5mm
10. HSS- Star Screw 25x6mm
24




Viva Composite Panel

25

VA 3D-27

Design Specification

Series REGULAR
Color Code VA 107
Color Name Copper ~
Size of Panel 304x380 MM 346,41 | 34,41 | 340,41 | 246,41 [ 240,41 | 340,41 | 340,41 |
- Zd2d 87
VA 3D-27
/ I

—— —

=T

e

346,41 | 346,41 | 346,41

446,41 | 346,41

346,41 | 346,4]
Section A-A’
WIS
3 (| =
'|II ::
-'f ‘E\: Callout
Al
o~ II" 3
Py ol
/ ,E, TS
| '-II ]
Callout _—
Section B-B’

SL

1.

N o o & N

Designation

Aluminium Framing 50x25mm
Screw 25x6mm

‘L" Angle 25x40mm

Wall

Fastner with Anchore Bolt
Viva ACP

POP Revit




VA 3D-28

Viva Composite Panel

Design Specification

Series

Color Code

Color Name

Size of Panel

REGULAR

VA 108

Champagne Gold

304x380 MM

g iy
a5, A B \ &
\'-.__ | / N A 1™ .__/- A '.I
I \ | =1 | ! f — !
g1/ MY /1)) ﬁ"n [/ (A AN AN
91/ NRYEAr vy S N L . N I
/ anN B\ FanN /AR VanN S| <
1 f | 1™ rd ™, | \,
h 1 f | /! ¢ ™,
d |\ / \.‘_{, \ / \J_‘ i1 — II-. o
3 |.IIII I .'. \ ", I.ll I.'. .'-I ", II.. l|' -lI | .|.' I.'l |
f \ /! i '| f ! /
— ! —_— ! — /
].ﬁ rl ¥ Wy { 1 o I " . ) III L'h
" a— — X
Al Atk ! 560 " G510 dall A0 250 i
2R
VA 3D-28

LTI f;;;j 777777777777, ‘gjf“ TITITT77] r,uff; .l‘f:lfuf; Lﬂ(’
e Jﬁ T - Designation
450 | 350 || 350 350 I 350 | 350 350 350 |
1. Aluminium Profile-VAACP/P/511(Omega Profile)
Section A-A’ ) o
2. Tray Made From 4mm Viva Aluminium
Composite Panel
. : & 3. Aluminium Profile-VAACP/P/611 ( Female Profile)
@) TE‘_. : - 4. Aluminium Profile-VAACP/P/612 (Male Profile)
d ¥—a © 5. Hilti-Frame Anchore HDH-HR2 10X100MM
= Callout 6. Double "T" Bracket-VAACP/P/510A
F_HH:””, 7. Anchore Bolt
; 8. Aluminium "L" Clit -20x25x38mm

Section B-B’

9. POP Rivet-25x5mm
10. HSS- Star Screw 25x6mm

26




Viva Composite Panel

VA 3D-29

Design Specification

Series

Color Code

Color Name

Size of Panel

Tarnish Metallum
VA 10002
Elegant Copper

304x380 MM

Tili]

450

450

450

/ﬁl \-\ /ﬂ\\ /f>//m\\,//n\\,/fn\\ /\
r 3 ra + '\l.‘r/
\‘\%/ \\%//\\/ NS x\/\/ NSNS
//“'/ >_;\‘//\/\> /\\/\I."/’:\\/\{:/ \>/’/\\>“/> %
-.\J’_ o \H\_,/'/ \k__ ..vx \\// \\
//\‘\\\ //’ \‘\.\ /\\\/\\///\‘\\ﬁ//\'\ﬁ//’/\\
In_ N AN AN AN AN AN A
dnsn =Bl asa | ase N dsn A asn 0 asn | asn
220655
VA 3D-29

27

 — I

|

o

z’fz’z’;fi’ fz’;’ﬁfﬁﬁﬁmﬂfm}ﬂ

QL&&EEHHEEEEE?J#&M!WK !ﬁfﬁ

45 450 4 450 450 450 450
Section A-A’

O—= O

Y |"f_';-—o'.—_ \ {E -

‘/ &
Callout ¥

Section B-B’

Callouot

(=

Designation

1. Aluminium Profile-VAACP/P/511(Omega Profile)
2. Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM

Double "T" Bracket-VAACP/P/510A

Anchore Bolt

® N o o » w

Aluminium "L" Clit -20x25x38mm
9. POP Rivet-25x5mm

10. HSS- Star Screw 25x6mm




VA 3D-40

Viva Composite Panel

Design Specification

Series

Color Code

Color Name

Size of Panel

REGULAR

VA 84

Coffe Brown

304x380 MM

— T T
= 'Ihl'\ III:I|| ./?'I'| lllf\ f L /'#. ||'rl‘\ III i i ’ |
T NG ||'r| SN 7 W S f,-' Pl
{ o | i Ul | : -~ Wy ., rd h
A el V4 e | A - '---__'-_'|L"__-o--' N e
— !I__,-;H _'__——"‘_.-lll;._ —— ' _F__.F_.;IT\—___ 1 _'____,_./r]
ey " F n, ] i o ", | =
= |4 | :.'I ., ! l'-.| S ™ J,’I ! L] =
:‘,‘ |I e 'l! . I |I ; |I I " II Ill [ W, .! -
| W o | | i \
— \ﬁ{.-___f' .+ — .E,____f- ke
i —
3 .-'\ I\ ,"]i'- f ~ I |\ ™~ IIN A\
NIV VN WS
- | - | - \
=== =\
A50 | 4501 " 450 A0 | 450 450
VA 3D-40

i

S T Sy B A B A L O
NN rE N rErr i rE i rrrrr s rrrrr s v,
AL AR A A L ,f.,.f,'l
= = | b == -
R —— I vy | Sy |
450 450 450 J 4510 451) 450
4 !
Section A-A

=
i~
E

Callout

.l"H'

==

Section B-B’

Calloant

Designation

© ® N @ g »

10.

Aluminium Profile-VAACP/P/511(Omega Profile)
Tray Made From 4mm Viva Aluminium
Composite Panel

Aluminium Profile-VAACP/P/611 ( Female Profile)
Aluminium Profile-VAACP/P/612 (Male Profile)
Hilti-Frame Anchore HDH-HR2 10X100MM
Double "T" Bracket-VAACP/P/510A

Anchore Bolt

Aluminium "L" Clit -20x25x38mm

POP Rivet-25x5mm

HSS- Star Screw 25x6mm

30




o e :
e

m_._;::_;

KAALA
I
NINININE ’
g\\n_B\b\\r ;




]Cf"*@ﬂ A

=

:' _ Jl J\ J&h“i

T
L ke tj

“‘1 '_""""""il' -

=1

>
48

'-l--.-




VIVA COMPOSITE Largest

Manufacturer

PANEL PVT. LTD. TACP i nda

Head Office

Viva Composite Panel Pvt. Ltd., 601, 6th Floor, A-Wing, Times Square Building, Marol Naka,
Andheri - Kurla Rd, Andheri East, Mumbai, Maharashtra - 400059.

Branch Offices

Delhi | Bengaluru | Ahmedabad | Hyderabad | Chennai | Bhubaneshwar | Jaipur | Raipur |
Lucknow | Udaipur | Surat | Ranchi | Kochi | Hubli | Indore | Bhopal | Pune | Nagpur | Nashik

Factory Address

Survey No, 85/8, 85/9, 85/10, 68/1, 70/14, At Post: Khattalwada, Manekpur Road, Opp. Poultry Farm,
Near Apar Industries Ltd., Tal-Umbergaon, Dist-Valsad, Station-Sanjan, Gujarat - 396120

Overseas Branches Overseas Associates

Viva Composite Panel W.LL Doha, Qatar USA | Kuwait | UAE | South Africa | Sri Lanka

Follow us @vivaacps @ ﬁ ® o

@ vivaacp.com e 1800 313 3770 (Toll Free)




